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2,

Which of the following is the verba]
rest of intelligence ?

(A) Raven's progressive matrices
(B) Kohs block design test

©) Wechsler adult petformance test
,ID) stanford Binet test

A child having Intelligence
Quotient Between 55-70 will be

categorised as-

' (A) Mild mental retardation

(B) Moderate mental retardation
£€) Severe mental retardation
(D) Profound mental retardation

Which Psychologist described

PeTsonality on the basis of traits ?
(A) Sheldon
AB) Freug
© Allport
(D) Friegy,
[P.T.O.
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Which one of the following is nota
type of intelligence as proposed by
Gardner ?

(A) Musical
(B) Linguistic
(C) Logical Mathematical

(B) Creative

Repeated association of undesired
response with an aversive
consequence refers to-
((A_) Positive reinforcement

(B) Aversive conditioning

(C) Negative reinforcement

(D) Modelling

Cognitive therapy for the treatment
of depression was proposed by-
(A) AlbertEllis
}B) Sigmund Freud

(C) AaronBeck

(D) None of theabove
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. celate d to effective counselloy 7
(A)
(B) Empaﬂly

(©) Parapheasine

@) Al of the above.

Authenticity

Escape learning is an example of
instrumental conditioning based

reinforcement.

" ¢4) conditioned

(B) unconditioned
(C) positive

(D) negative

.............. 1s defined as overlapping or

disturbance of different memory



-10. &1 | foanfag % finan goret & | 10, Which Educationist gave the idea of

HaRrar &1 foar fear? behaviorism in education system ?
(A) <17 wiF (A) JohnLocke

(B) «ffew® (B) Thorndike

(C) &= T

(D) e

11. faenef 4 sraifea

best in changing the undesirable

(A) faeneff # <5 2 behaviour of the student ?
(A) Punish the child.

(B) Bring tothe notice of guardians.
(C) s1aifea =aeR ® RO Bl @:ﬂ SQ) To identify the causes of

(B) e & g A @l

= SUPS— undesirable behaviour and
manage remedial step.
(D) feremedf =t 3q&m FTA (D) Ignorethechild.

12. 9r—HA 3R fh, SF1 3 wifaqe 1 | 12. Watson and  Skinner both

-4 f=RER & drRE fean? contributed in which school of
(A) YRER psychology ?
(B) HAFIETE (A) Functionalism
. (B) Cognitive |
(©) Sraters-Tiepfn /(ff Socio-cultural
(D) =aeREe (D) Behaviorism
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¥?

(A) WA T F&rIar

(B) fa@q =t rawan

(C) et AGHM

(D) FT 1 e

16. - WTAfTE GAfETH & 5 ol HEd 6 2
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which of the following jg ¢, ly
arr aﬂEEd ?
(A) Encoding - Retrieval -isturagE

(B) Encoding—Storage Retriey,)
© Storage—rRettieval-aEmodmg
(D) REtriE\?al-rStorage-;Ermd_-mg

According to Piaget the children are
able to grasp the concept of object
permanence and conservation in-

(A) Sensory motor stage

_(B) Pre-operational stage

(C) Concrete operational stage
(D) Formal operational stage

Alexia is which type of learning
disability ?

fA) Reading disability

(B) Writing disability

(C) Speaking disability

(D) Listening disability

Who is the father of Experimental
Psychology ?

(A) Wilhelm Wundt

B) G.Jung

A€) Segmund Freud

(D) None of the above.
[P.T.O.



(A) e fafy

(B) wriifiv fafy

(C) wegm fafy

(D) =af st fafy

18. v % faFE & s w AT R~ | 18.

(A) == = faerg =1 fafu= s

ﬁﬁwmﬁaﬁa 17.

Which of the following methods is
considered the most scientific and
objective method of studying
behaviour ? _

%) Observational method

(B) Experimental method

(C) Survey method

(D) Casestudy method

Scope of study of child development
ig-

(A) Study of different stages of

6l AT |
(B) T3 forrey W waercer ol TR crvdiognmn:
(B) Study of effects of environment
b on child development.
(C) =R TH=Ten v STeErery| (C) Study of individual differences.
(D) 393 & & A4 | ((EfA]lmftl}eabove.
19. gormeash Frenef ...vevvcrenecnee @A €1 | 19, Creative students are-
(A) it faae (A) Convergent thinkers
(B) 39w} famh B) Divergent thinkers
(C) feqat (C) Extrovert
(D) gd wieret

' J-2205 - Series-A 1 ran

(D) Veryhard working
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(A) Bicrafe
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(C) faw
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e &2

(A) =hfge famma
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(D) wamers fawm
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20 Accol'dmg to MCDD“SHII bﬂSiC

nstinct ‘curiosity' is related to which
(A) Fear
(B) Hate

A€) Wonder

(D) Hunger

21. "Development is continuous and

slow process" according to which
psychologist ?

(A) Kolesnick

(B) Jean Piaget

(©) Skinner

(D) Hurlock

Development of concepts is mainly
a part of -

J&) Intellectual development

(B) Physical development

(©) Social development

(D) Emotiona] development
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fora s 4 B 772
(A) fereiraen

(B) E-adrare
(C) Higraream

(D) R <o #
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(A) i e il / Syt St <

(B) === =rr Wi & <A

(©) T2 e & seit el =y

EICEI

(D) 39 it
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24,

25.

23. In which stage the intense and

crucial socialization takes place ?
(A) Adolescence

(B) Pre-childhood

(C©) Adulthood

(D) In the whole life

Objective of evaluation is-
(A) To declareStudents pass / fail.
(B) Toknow, what the child has
learned.
(C) Toknow the problems faced by
the child in learning,
/(Bf All of the above,

Meaning of development of human
values which are universal in
nature is-

(A) Indoctrination

(B) Adoption

AC) Imitation

(D) Manifestation
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Thurston and Likert me 2
related tO which of following ?

(A) Intelligence

(B) Attitude

(C) Values

) Personality

Who propounded the 'laws of
learning' ?

(A) Freud

{B) Skinner

(C) Thorndike

(D) Adler

Project method of learning is useful
for which stage ?
(A) Childhood
(B) Pre-childhood
4€) Adolescence

(D) All of the above.

e 1.0



<B) Reality Princip]e
(©) Idealistjc Principle
(D) Generg) Principle

30. Who said, "Twq children haye n
€Ommon abilitieg! 7
(A) Hurlock
B) Sorenson
(©) Crowand Crow
(D) Adler
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31, FH § Y 9 SR W )
(A) 0°C
(B) 273°C
(C) -273°C
(D) 373°C

}%POGEﬁﬁﬂq-mm%?
(A) THA YT 7=

(B) feam=ia e

(C) frerwig T

(D) S A FHE T |

T A 1 9T Soraeiieh fa=am ns’np®

32,

33.

¥ 7 7 B 1 T I B

(A)BA
(B) AB
(©) AB;
(D) B,A;

34, TF Aie FETSKAEES Y 1 R
W 1 BT B
(A) 44g
(B) 0.44g
(©) 44g

(D) 440g
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caeMISTRY
31 WhiCh of these is absolute zerg
| temperatufe ?

(a) 0°C
(B) 273°C

jef _273°C
(D) 373°C

32. H,PO,Is which type of acid ?
(A) Monobasic acid
(B) Dibasic acid
(C) Tribasicacid
(D) None of the above.

BaThe "ifi;.élen_cé__ Shell electronic
&onlighiration of A is ns?npand that

* of B is ns'. Which of the following
compound is likely to be formed
fromAand B?
(A) BA
(B) AB

/©) A
(D) ByA;

34. Mass of one mole of CO, molecule
in gram is equal to-
(4) 44g
AB) 0.44g
(© 44g

(D) 440¢g

[13]
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36.

37.

fasror w0 Fore e AR T
ﬁ,m%ﬁ(ﬁqﬁﬁﬂq?ﬁ
foran s = S &2

(A) T A

(B) T4 S

(C) siifrs e

(D) sefarr

0.20 M KCl fasam it srerhar 298K

AIHH W 0.0248 Scm™! ¥, 35! HieR
ATl Bri—
(A) 0.124 S mol'cm?
(B) 124 S mol ‘cm?®
(C) 1245 mol'cm?

(D) 0.0124 S mol 'cm?

NH; 1 9! 3wt @m-
(A) NH;

(B) NH{

(©) NH*

(D) NH;
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35. Which process is used to separate a
mixture of two or more miscible
liquids having small boiling point
difference ?

(A) Simple Distillation
(B) Steam Distillation

,(Cf Fractional Distillation
(D) Sublimation

36. Theconductivity of 0.20 M solution
of KCl at 298K is 0.0248 Scm™?, its
molar conductivity '15.'

(A) 0.124 S mol'cm?
(B) 124 S mol'cm®
(© 12.4Smol'em®
(P) 0.0124 S mol'cm?

37. Conjugate acid of NH, is-
(A) NH;
(B) NHy
€ NH™

D) NH}

[14]
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H,O0, NH;, OH™, NH;

(A) NH; >OH">NH; > H,0
(B) OH™ >NH; >H,0> NH,
(C) NH;>H,0>NH, >0H"
(D) H,O>NH;3>O0H™ > NH;

=1 9§ & 5o Y9 forwenr fiysmoy &-
(A) CO+H,

(B) H,0+CO,

(C) CO+N,

(D) CO,+H,

Tiifga Wi 9 =1 gea sr|ag t-
(A) S

(B) =37

(C) fagm

(D) T=geA

. CH,COOH ! wif¥ras ufafew vt

el Sl & Fifeh-

(A) =% 9f$El & = -1 s 2
(B) 5! T & arodiene & S €1
(©) ¥®AYE R

(D) 39 FIE e |

38.

39.

40,

41.

[15]

4A) NH>

The correct decreasing order of
basic strength of following is-
H,0, NH3/ OH ", NH,

>OH™ > NH,3 > H,0
(B) OH~ >NH; > H,O>NH,
(©) NHs> H,O0>NH, >0H"
(D) H,0 > NH; >OH™ > NH;

Water gas is mixture of-

/(,A) CO-F‘HZ

('B) HZO + COZ
(C) CO+N,
(D) CDz + HZ

The major component of compressed
natural gas is-

(A) Propane

(B) Butane

#€) Methane

(D) Hydrogen

CH3COOH is called glacial acetic
acid because-

(A) Itfreezes during winter.
AB) Itevaporates in summer,

(©) Itisimpure,

(D) None of above.
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(A) TriTT-66
(B) ¥
(C) Faer
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43,

45,

Which of the following fye has
highest calorific valye ?

(A) Methane

) Hydrogen

© rrg

(D) Petrq]

Bullet proog Jackets are made of
Polymer-

(A) Nylon-6g
(B) Rayon
€] Keviar
(D) Dacron

For Association the value of Van't
Hoff factor is-

(A) i>1

®) i=0

L) i<l

(D) Allof these,

Identify the correct combination-
Element Compound Mixture

(A) Graphite Brass Ice
(B) Brass Graphite Ice .
4€) Graphite Ice Brass

hite
(D) Ice Brass Grao



16, TFeAfafes vaafs sfiifmg SRR ,mount of water produced by

16g 3 & TET A FREN TRt ey 46. :;buﬁﬁﬂn of 16g of methane in

B 2 (ollowing chemical reaction is-
CH(8)+202(8) > CO(8) +2H,0(g) | ¢y, (g)+202(8) %2 (8)+2H0(g)

(A) 368 | (A) 368

(B) 16g ®) 168

(C) 18g ©) 188

(D) 32g ﬁ 32¢

47. Freafefen # & 91 ¢ * facfet | 47, Which among the following is the
(@ o & fod v § e -m main constituent of cooking gas

arelt /) @1 gea vew ¥ 2 cylinders ?

(A) a9 (CH,) (A) Methane (CH,)
(B) ¥ (CH) (B) Ethane (C,H,)
(C) W (C,Hy) (C) Propane(C,Hy)
(D) =7 (CHy) £B Butane (C;H,

48. T =%k 9T B Ye # il e | 48, Whatis the amount of Hydrochloric
TR o7 I B 87 acid secreted per day in the stomach
(A) <12L of an adult human ?

(A) <12L
(B) >15L (B) >15L
(C) 12-15L ©r121sL
(D) 2.7L (D) 27L

r.1.2205 - Series-A ] [17] IPTO
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49. The solution of washing soda

.y (Na,CO,) is-
(A) sneha (A) Acidic
®) = AB) Basic
(C) T (C) Neutral
(D) 3w & & =

(D) None of the above.

50. Y& U # Henfiet et Rt 22

S0. What is molarity of pure water ?
(A) 1.000 M

(&) 1.000 M
(B) 5.555 M (B) 5.555M
(C) 5555 M (C) 5555 M
(D) 5555 M (D) 5555 M

51. ﬁaﬂ?ﬁlpﬂﬂﬁﬂ%? S51. Whatis pH of a solution ?

(A) -logK, (A) -logK,
(B) +logk, (B) +logK,
(©) ~log[H*]

(©) -log[H*]

@ +log[H+]

(D) +lng[H+]

52, ﬁﬁmﬂ?ﬁmwm 52

. What will be the change in pH of a
[H*] 100 oM s | faeraT & pH solution when hydrogen ion
A H /4 ity B2 concentration [H *] is increased by
(A) 1% 5Rm a factor of 100 ?
(®) 192w 4A) Increases by1
(B) Decreases by 1
(C) 2 55 s (C) Increasesby2
(D) 2 w= s (D) Decreases by 2
[ J-2205 - Series-A ] [18]



53, FERRE H A T I (el
R B U WM E?
(A) T IR
(B) el FRHRE
(C) UHE ERHRH
(D) ¥ ¥ B =& |

54. FYHUST HI I W v sy g oy
it W @, T Fgena &2

(A) EAY HEd
(B) hariew
(C) W T
(D) v Hgw

55. Wo A 1 ppm W T el
welge fremd smi €, e | @ et
T Rg?
(A) a%a
(B) fem
(C) wwg
(D) =
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53, Name the Allotrope of Phosphorye
which has a garlic odoyr ?
(A) Black Phosphorus
(B) RedPhosphorus
@ White Phosphorus
(D) None of these.

54. What is the name of region of
atmosphere in which human beings
and other organisms live ?

A) Stratosphere
(B) Biosphere
(C) GreenHouse

(D) Troposphere

55. Soluble fluorides upto 1 ppm are

added to drinking water to

protect -

(A) Liver
(B) Heart
(C) Lungs

D) Teeth

BTN



56, fre 8 @ w W o G L

(A) FERES
(B) wren
(C) e
(D) w&he

57. <Sfae & ¥ %1 @ g # o3 i
% T H gy et ¥ 2
(A) TR (Fe)
(B) dE (Cu)
(C) S (Zn)
(D) wten (Pb)

58. T § T WHfaF agaid ol & ?
(A) w=rH

(B) L IGiEs Sk
(C) dgais
(D) ™R

F I.99AE Casvia~. A s

56. Which of the following wat
pollutant causes the disease 'bl
baby syndrome'?

(A) Fluoride

_B) Lead

(©) Nitrate

(D) Sulphate

57. Which metal rod is used as anode ir
Daniell cell ?
(A) Iron (Fe)
(B) Copper (Cu)
AC) Zinc (Zn)
(D) Lead (Pb)

58. Which of these is not a natural
polymer ?
(A) Starch
_B) Polystyrene
(C) Cellulose
(D) Rubher




59, faet# A, T FSreeht wemmy g

60.

o4 ¥, w1 @t FEEt 12
(A) T

(B) Heeir®

© * HE

(D) e

59. Who among the following discovered

e element Plutonium with atomic
number 947
&y GlennT. Seaborg
(B) Mendeleev
(C) Henery Moseley
(D) Heisenberg

TAHIH h QI WIpTaeh W8 A fF W | 60. Which element is mixed with

e & T

(A) S ﬁeXanb

(B) P
© C
(D) B

natural rubber during vulcanisation?
o

@ /9

©) C

(D) B



<ECTION - 11 (BOTANY/ ZOOLOGY)

61, e iy & e SO €
(8) il fen & 7 1 O e
(B) 15 7w O e
(C) 3 st IY i w75
(D) ¥ | =K 7|

62. T Wl S, et = i
Frad =

(A) wofa= g

(B) = €. gy

© @ Fe 7 . 9
(D) &1 3 939

63. ﬁmﬂﬁﬁ.ﬁ.m.mﬁﬁ@aﬁ
Fere fohet et e firen 2
(A) &R dge
(B) woifers g
(©) #2 gferw
(D) 3o e

[ J-2205 - Series-A |

61. In grafting, scion is-
JA’)” apartofstemofdesiredvaﬁety
(B) apart of rooted plant
(©) rootof rooted plant

(D) None of the above,

62. Who discovered recombinant DNA
technology ?
(A) HarGobind Khurana
(B) JamesD. Watson

(C)S.Cohen & H. Boyer

(D) Suttonand Boveri

63. Who was awarded Noble prize for

the development of PCR technique?
(A) Herbert Boyer

_AB) HarGobingd Khurana
(©) Kary Mullis
(D) Arthur Kornberg

[22]



64.

65.

66. Tava 2NiA feaq & 91 S € 2

67.
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firet § A B W I T S Q gifg
T &7
(A) T 2T TR : T oy

(B) XO waR ferr fasftor : fegey
(@) ABO & HHg1 : ¥4

(D) T AN - HEE

frefefad 8 @ fhusd g Sed w19
3 Fadd T I% & 5T B § 2

(A) afa wt wefar

(B) &

(€) ®e&d

(D) wetam

(A) 5+

(B) 16 faawrt
(C) 21 37«
(D) 22 3t

Wi = fviter fReR waifad @
BNt ?

(A) T9HM™

(B) O, digan

(©) W d

(D) CO, Wigar§

64 Which of the following pairg is

wrongly matched ?

(A) gtarch synthesis in pea:
Multiple alleles

(B) XO type sex determination :
Grasshopper

(C) ABO blood grouping:
Co-dominance

(D) TH. Morgan : Linkage

65. Which of the following flowers only

once in its life time ?
Bamboo species

(B) Mango

(C) Jackfruit

(D) Papaya

66. World Ozone Day is celebrated on-

67.

[231

(A) 5% June
ABY 16™ September
() 21* April

(D) 22* April

Stomatal movement is not affected
by-
(A) Temperature
(B) O,Concentration
(C) Light
CO, Concentration

(O) €O,

BNnYP)%) /1) /151 TR VI e/



68, TR P e T
3 o e R o o 1 SR
¥?

(A) -120°C
(B) -196°C
(© -80°C
(D) -160°C

69. =& Y formil wit dwemw Wil | 69

70. 3 R T B WY o Pk

(A) =
(B) wvtery
(C) smeafist
(D) sy e

71. ¥ frvs (e wfem) Frefateg

A B WA T w2
(A) TTE. (LH)

(B) T

(C) IRA

(D) TH.T8.TH. (F SH)
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Pollen grains can be stored for
Several years in liquid nitrogen
having temperature of-

(4) ~120°C

B -196°C

©) -80°C
(D) -160°C

. Which book keeps record of all

endangered s pecies ?

(A) Guinnesshook

(B) “Speties evolutionary record book
{C)" Limea book

(CB) Red data book

70. Where does the fertilization take

Place in human females ?
(A) Ovary
(B) Uterus

_K&) Fallopian Tube

(D) Cervix

71. Corpus Luteum secretes which of

the following hormone ?
(A) LH

(B) Estrogen

}Ef Progesterone

(D) FSH



7. frad & SfaF IRE B W

72 Which of the following is a

(A) TR biofertilizer ?
(B) 2o Tl St (A) Mycorrhiza
© e o w | ® N e
©) Nitrogen fixing Cyanobacteria
(D) S T (@) Al of above.
73. e et Wﬁ?mﬁwﬁlﬂ{ﬁmﬁ 73. Which part of alimentary canal
T HT & ? receives bile from the liver ?
(A) FFRE (A) Stomach
(B) B _B) Small intestine
(C) = & - (C) Largeintestine
(D) T (D) Oesophagus
74 o ® YW qUeA (Photolysis of | 74. Which of the following minerals is
water) § fret ®9 &1 @fre wwe  essential for photolysis of water ?
ST B € ? (A) Manganese
(A) W (B) Zinc
(B) T
(©) Q) Copper
(D) IR A4BY Boron
75. T4 S ¥ el W Sl 7 75. Loop of Henle is found in-
(A) Hwgl F (A) Lungs
(B) efer (¥Fq) ¥ (B) Liver
(C) = A (C) Neuron
(D) Tt (DyNephron

[ J-2205 - Series-A ] [25] IBTO



" Dmmﬁﬁﬁm-ﬁﬂfﬁn
Wwﬁqﬁﬁm?
(A) B3RB
(B) A3RB
(C) 0RO
(D) AB3RO

77. Ty S wiw -
(A) Yo fermrg - o) & €
(B) Fri=m = A &)
(C) ¥ 5 Fd=m g €
(D) & fash F8== € )

78. A % T4 9% N 90 A A fra
HHY T & ?
(A) 0.83s
(B) 0.8 umsH Vhe
(C) 0.08 T&s
(D) 0.008 ¥&E

79. W T %1 wiwa § omfive Hre
BDAGE?

(A) UUU 3R GGG
(B) AAUSRUAA
(C) AUG3HRGUA
(D) GUG 3R AUG

[ J-2205 - Series-A ]

76. O blood group child can not haye
parents of blood group-

A4y Band B
(B) AandB

(C) OandO
(D) ABand O

77. Intest tube baby procedure-
(A) Embryodevelopmentis in-vitro,
(B) There is no fertilization.
_AC) Fertilization is in-vitro.
(D) Ferti]jzgtinn is in-vivo.

78. The duration of human cardiac
cycle is-
_AX] 0.8 seconds
(B) 0.8 micro seconds
(C) 0.08 seconds
(D) 0.008 seconds

79. Initiation codons for protein.
synthesis are-
(A) UUU& GGG
(B) AAU&UAA
AC) AUG & GUA
(D) g}ﬁﬁ}_ AUG

[26]



80. = % R I Wiwary T
FRAC?
(A) wfsa wfaan
(B) fafsra witran
(C) M (A) 3R (B)
(D) 370 4 q ¥ 7 |

Frer A ® W ORRefE
AT TF & ?
(A) sitar

(B) W (&FHH)
(©) da

(D) wg

81.

82. T QA &N W wIfSE § 2
(A) BamH1
(B) EcoR1
(C) pBR322
(D) Hind 111

83, VR % T Forw =1 aMeR 3 §2
(A) faaeit
(B) WM =t (facwad)
©) TFFM (Teve )
(D) wywaat

[ J-2205 - Series-A ]
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80, The immunity obtained aftey the
bodyhﬁremvered fmmﬂdisease
is called-

(A) Active immunity

—(B) "Passive immunity
(C) Both (A) & (B)
(D) None of these.

81. Which of the following is an abiotic
component of the Ecosystem ?
(A) Bacteria
AB) Humus
(C) Plants
(D) Fungus

82. Which of the following is plasmid ?
(A) BamH1
~AB) EcoR1
(C)(pBR322 D

(D) Hind 111

83. Mulberry leaves are food of-
(A) Butterfly
AB) Silkworm
(C) Round worm
(D) Honey Bee

[P.T.O.



BA. o R A i < et @ Fere A
% @ #?
(A) B
(B)

(€ 3
(D) wafen

86.

87. ¥aret & yehrer Hve fiprie 1 s
&

(A) WREse §
(B) iftrehr fufw §
() Tz §
(D) R

[ J-2205 - Series-A ]
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84. Edward Jenner discovered the
Vvaccine for which disease ?
(A) Chicken Pox
@ Smallpox —
(€) Dengue
(D) Malaria
85. The bending of the shoot of plantin
response to light is called-
(A) Geotropism
_B) Phototropism
(€) Thigmotropism
(D) CI‘IEmmIopism

86. Aneventurﬁquetnangiospem;sis-
{#) Double fertilization
(B) Sexual reproduction
(© Pollination
(D) Spore formation

87. In algae, the Photosynthetic
Pigments are present in.

(A) Pyrencids

@ Cell wall

X&) Chloroplast

(D) Vacuole

[28]



88. T HI W Y-
3223
M =
2123
2123
1232
1232
2233

(B)
©

(D)

89. Trgfie drien e o wor A 2
(A) ¥
(B) =%
©) 3% M vig
(D) e

TR 1 e Wt & g -
(A) R

(B) <y

(©) formy 3

(D) T & T

91. WA e simta wifga &-
(A) Y
(B) i
(C) wA
(D) wfew=r

[ J-2205 - Series-A ]

D) 7333
89. Colour blindness is due to defectin-
AK) cones
(B) rods
(C) rodsand cones

(D) rhodopsin




92. WRa ¥ Iwrfead ol & 3 i %2, In India, tropical rain forests occurs
&- in-
(A) < Tt & (A) Jammu Kashmir
(B) 3gwH # (B) Andamans
(C) SWww # (C) Uttar Pradesh
(D) fevrae wew # (D) Himachal Pradesh
93. I wWges §- 93. Starch is a polymer of-
(A) =T (&) Glucose
(B) IS (B) Fructose
(C) g = (C) Sucrose
(D) WS &1 . (D) Maltose
94. TF HifvUafes (B @) ... | 94. Acell plate is laid during-
* 2 i | (A) Cytokinesis
(A) V&R o
B) (B) Karyokinesis
(C) ¥evé (siavaen) ()-Interphase
(D) T8 ] = 7 (D) None of these.
95. fr= feafa § fsg =Y Ordfirs @@ | 95. Which of the following condition is
I € ? called monosomic ?
(A) 2n+1 () 2n+1
(B) 2n+2 (B) 2n+2
(C) n+1 (C) n+l
(D) 2n-1 (D) 2n-1

[ J-2205 - Series-A] [30]



96. SFAFERH FBERRFAHTN T sifpy
I 7 R ?
(A) ToTeBloTHo
(B) SRS
(C) ToEtodle
(D) Todtodto+vre
97. W ISt U] I WIS HTA B fg
ernrenenienns NEGIES NADP 319 i}
TEE ¥
(A) 6
(B) 12
(C) 18
(D) 24
98. = wafear s C, 3fR C, Wi & ¥
G R o At ®-
(A) FRRFEEA
(B) va&d fwan
(C) TARRIRRE
(D) »fea =
99, ‘gwrerst’ (wifafirl) weg wawgw
fras g/ wam fofan T e ?
(A) g
(B) foHw
(C) e twre
(D) T8 & g =&t |

[ J-2205 - Serles-A ]
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96. The end product of Oxidative
ph ﬂsphgrylalion is-
(A) N.A.D.H.
(B) Oxygen
(C) AD.P.
,(D) ATP+HO

97. Synthesis of one glucose molecule

98. The process which makes major
difference between C; and C, plants
is-

(A) Photorespiration
(B) Respiration

AC) Glycolysis

(D) CalvinCycle

99. Theterm ‘Ecology' was first used by-
(A) Odum

(B) E.Munch
ACY EmstHaeckel
(D) None of these.
[P.T.0.



lﬂﬂ.ﬁﬁ!ﬁﬂwaﬂﬂ@qﬁm
& wq 1§ wrd w87
(A) Y&
(B) wmEHA
(C) &
(D) Tl

101. Fr=fafas 8 & @A W @ 96 ¥
(e firg) deem F1 T €2
(A) A7 T
(B) == <9 3naRW
(C) fud=
(D) 9fa= 39

102. YT ) 16-HITRE T W -eenennnnne £
Tq 1§ S e R

103, 9geht R T, sgaT (FAAEH)
%1 frg B9 Wam §?
(A) V&R AU fyvrer
(B) T8 T favrem 4
(C) wed i v 3
() 2 (A) ()

[ J-2205 - Serles-A]

100. Which one of the following act as bio
indicator of air pollution ?
(A) Algae

AB) Lichens

(C©) Fern
(D) Mustard

101. Which one of the following is an
example of ex situ conservation ?
(A) National Park
(B) Wildlife sanctuary

A€) Seed Bank
(D) Sacred Groves

102. The embryo at 16 celled stage is
known as-
W Morula
(B) Gastrula
(C) Blastula
(D) Blastomeres

103. First polar body is formed at which
state of oogenesis ?
(A) 1*Meiosis
(B) 2**Mitosis
(C) 1*Mitosis

gD) Both (A)and (C)



104, T TET G By e

(A) Eﬁ?’ﬂfﬁ
(B) HtETH

(C) T H
(D) Xufafaay 3§

ias.ﬁasﬁm,ﬂiﬁmmt{éﬂﬁzm
i i, et &-
(A) SR%RIY (Wefeg) #
(B) FHIPTEE (WHifigg) wt
(C) TwRE (sfey) 5

(D) TEEIFRI (Seifeg) #t

(A) w3

(B) wmm 3

(©) e a3
(D) ¥awer 3

J-2205 . Serjes.A ]
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104. Transverse bi]'li:ﬂ'y fission occurs in.

( A) Euglena
(B) Amoeba

(C_) Hydra
}Dj Paramecium

105. Reduction in vascular tissue,
mechanical tissue and cuticle ig
characteristic of-

(A) Xerophytes
(B) Mesophytes
(€} Epiphytes
(D) Hydrophytes

106. Cell theory is not applicable for-
(A) Bacteria
(B) Fungus
(€ Algae
(PY Virus

107. Who proposed the chemical
evolution of life ?

(A) Darwin
AB) Lamarck

(C) Oparinand Haldane
(D) Haecke]

[P.T.O.



109. T=gfem it 1 yed wH &
(A) IFd § TR 95 H |
(B) T ¥ vemEIoT 5 F |
(C) @ ¥y agi |
(D) & TEHU TR FI

110. 51 ¥ YWt O o < s @
4 = Frafa s -
(A) faafim A
(B) faarfus K
(C) fa=fim ¢
(D) Frawda

111. Si&l %} W ey ) 5
(A) 3= v
(B) wfirmfas
(C) TP
(D) 390 Wit

[ J-2205 - Series-A |

108. Other than spreading malaria,
anopheles mosquitoes are also
vectors of-

(A) Dengue fever
(B) Filariasis

(C) Encephalitis
(D) Yellow fever

109. Main function of insulin hormone is
to-
(A) Increase glycogenin liver.
(B) Decrease glycogen in liver.
(C) Increaseblood sugar.
P) Decrease blood sugar.

110. A fat soluble vitamin that regulates
blood clotting is-
(A) Vitamin'A'
_B] Vitamin 'K’
(©) Vitamin 'C'
(D) Niacin

| 111. Common problem of theeyeis/are-

(A) Conjunctivitis
/(B} Cataract

(C) Glaucoma

(D) Allof the above,

[34]



112,74 Frees et & S (F9) wwn
o &~

113. 99 T T FIOEHISAl 1 ST
forem et =1 S ®2
(A) 45
(B) 120
(C) 80
(D) 180

114. = () =T SAuRIRR 1 e fee o
(A) orfed
(B) <l Aferent
(©) Fewa
(D) R T

115. Fr=rfafaa # 9 svew &2
(A) wiferq
(B) 9IRS
(C) wet
(D) =«

(A) 45
/(.B)’ 120
(C) 80
(D) 180

114. Main hearing part of an ear is-
(A) Cochlea
(B) Ear cana]
(C) Utricle
(D) Eustachian e

[ J-2205 - Series-A ]
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116, Freffie 3 A fow o § T 0
e &7
(A) e
(B) Wl
(C) ¥
(D) =

117. o Frveeh wgfir & va o o eafsfee
LER

(A) e
(B) fetamit
(C) it
(D) =g

118. U 3 ¢ RNA R el e 2 & 2
(A) 5'-fRw
(B) 3-fRw
(C) e wom w
(D) DHU 9 &

119. TS H1 feM +0 & fow 337 o
TR < &t it &2
(A) TU.SR.T9.T. (Tferan) witem
(B) 3TW.3R. yiterm
(C) 4R, qa
(D) faera wiraqy

[ J-2205 - Series.A |

116. To Which one of the following

Categories does adipose tissue

belong ?

(A Epithelial
(B) Connective
(C) Muscular
(D) Neural

117. The correct surgical proc_edure asa
contraceptive method is-
(A) Ovariectomy
(B) Hysterectomy
AC) Vasectomy
(D) Castration

118. The amino acid attaches to the
t RNA at its-

(A) 5'-end

(B) 3'-end

AC) Anticodon site
(D) DHU loop

119. The chemical test used for the
diagnosis of typhoid is-
(A) ELISA-Test
(B) ESR-Test
(C) PCR-Test

4BD) Widal Test

361



120. Bt 919 T & &2
120. Bt cotton is not-

(A) Wﬁﬁ? 'ﬂ'ﬁ'fifa ‘?IHT I (A) A geneﬁca]ly modified plant.
(B) FTe wfadeft (B) Insect resistant.

(C) ame St st 3 (C) A bacterial gene expressing
system.

(D) =+
) FIAIR H1 YRRyt ’ " (D) Resistant toall pesticides.




SECTION - IV :
GENERAL AwARENESS & ENVIRONMENTAL STUDIES

121, e SR T T
(A) §I R
B) T
(C) @ =€

(D) THHH THR ¢!

122. 97 W 29 FAA 3@ WA w2
(A) Tereidtg
(B) fae

(C) =gicie
(D) swfemt

123, R e i et e R
q?

(A) W
(B) wifew i
(©) =f
(D)

121, According to the Constitution, Indj,
Is a-

(A) Federation
BJ Union of state

(©) Half union

(D) Unitary government

122. Whicheountry gives the Magsaysay
Award? |

¢4) Philippines

(B) Britain

(C) New Zealand

(D) USA.

123. Whom did the people of Indus

Valley worship ?

fA) Pashupati

(B) GoddessShakti
() Fire

(D) Surya

[ J-2205 - Series-A ]
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124, fore T WA T A )
™ ?

(A) 26 SFER 1948

(B) 22 [€T§ 1947
(C) 26 S 1950
(D) 18 fE@=R 1949

125. fmyed Ten &7 39 &t | @
oA L § 2

126. " 3% 7 sfvear’ 3 Freafafaa § & fa
T T (Logo) & &9 # ST 7 2

(A) I

(B) wel

(C) TR ()
(D) ®Me

[ J-2205 - Series-A ]
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124. [n which year was the Indian
National lag adopted ?

)B)' 22 July 1947
(C) 26 January 1950
r 1949

(D) 18 Decembe

125. McMohan line demarcates the
boundaries of which countries ?
(A) India -Sri Lanka
(B) India - Pakistan
(C) India-Maldives
D) India - China

126. 'Make in India' programme has
adopted one of the following as its
logo-

(A) Lion
B) Elephant
(©) Tiger

(D) Kangaroo

[PTo



127 e e o S 0 €
(A) 15 S
(B) 26 S
(C) 1 7R
(D) 25 SHad

128, feAreet W & wou et E 92

(A) FoRo Y
(B) SeTHo TR
(C) W R
(D) ™ =

129, wrRa # ' aarst s o e
H 977 '

(A) =f g
(B) TIez Wt
(C) <" afge
(D) <17 ¥R

130. Fifere el e &2
(A) WY
(B) =
(C) Wrie
(D) ¥ie

[ J-2205 - Series-A |

127. When is Himachal day celebrated ?
SA) 15 April
(B) 26 January
(C) 1November
(D) 25 January

128. Who was the first Chief Minister of
Himachal Pradesh ?
(A) P.K. Dhumal
(B Y.S.Parmar
(C) Shanta Kumar
(D) Ram Lal

128" Whoeas the founder of "Ryotwari
* Settlement" in India ?
;A) Thomas Munro
(B) HoltMackenzie
(C) James Thomson

(D) JohnShore

130. Where is Greenwich located ?

“ @ France

(B) China
(C) Poland
(D) England _

[40]



(31, W R T (NATO) B werafye gy
¥?
(A) et S fici
(B) SRy weRTa
(C) AR et
(D) ¥ [ g T |

132. " e wwga "' | qiReE WY iR Y
fre waer fe ?
(A) TR Y&
(B) I el ¥
(C) e WA
(D) 9§ @M

133." %ol : ¢ It ol T EE
foen et ?
(A) e fog
(B) www g
(C) MM wwRl
(D) ¥mit e

134 e v =) ot e &7
(A) i

(B) vim
(C) et
(D) gt

131, Who is at present the Secretary

General of NATO ?
(B) Jens Stoltenberg

() Volodymyr Zelenskyy
(D) None of these.

132. Whossigned the "Shimla Agreement”
from the side of Pakistan ?
(A) Benazir Bhutto
(B) Zulfikar Ali Bhutto
(©) YahyaKhan
}D)’ AyubKhan

133. Who wrote the Book "Kashmir : A
Tragedy of Errors" ?
(A) TavleenSingh
_AB) KhushwantSingh
(C) Salman Rushdie

(D) Shashi Tharoor

134. Kolkata is situated on the bank of
which river ?
(A) Narmada
(B) Ganga
(C) Gomti

[ J-2205 - Series-A |
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}P) Hooghly
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IBS.WwwWﬁﬂmw

®?

(A) wgreay Tt

(B) Tsn TH Hied T
(C) faasrg

(D) EmRR dd T66

136. BrTer Yeafhn w52 $ugE 51 SIS
BHAE?
(A) faaAew

(B) = g
(C) el TR
(D) &0 ¥

137. " q@t"" S for o) & e s €2
(A) femren
(B) wugt

(C) ==

(D) TR

[ J-2205 - Series-A |

135. Who s called the father of modern
India ?
(A) Mahatma Gandhi
(B) Raja Ram Mohan Rai
(C) Vivekananda

(D) Jawahar Lal Nehru

136. Who is the founder of social
Networking site Facebook' ?
,(A) Bill Gates
_BY" Mark Zuckerberg

(C) CarlCori
(D) Larry Page

137. In which district the "Suhi" fair is
celebrated ?
_{A) Shimla
(B) Mandi
© Chamba
(D) Hamirpur

[42]



138. KIEL 5% & ohgs )
138, Wp,o is the Author of the Booy

(A) I HER
"LAJO"?
(B) “H<d fawy (4§ Shanta Kumar
(C) <t |=< wieff (B) Jaidev Kiran
(D) fri (C) Lal Chand Prarthi

(D) Vinod Himachali

139." 9N @' fFa = # wEw = | 139, "Baner Khand" is a tributary of

¥ which river ?
(A) 7T (A) Yamuna
(B) et (B) Ravi
(C) =9 (€) Beas
(D) o= (D) Chenab

140, e w29 &1 S 9 AR WK | 140. Which person from Himachal

TN A 1 e A & 7 Pradesh became the Chief Justice of
(A) PR— SupremeCourtpf Indla?
' (A) Vishva Nath Sharma
(B) W vl (B) SomnathS]
(C) 29 TS HEwRH (C) Des Raj Mahajan
(D) s ,{B)/Mehr Chand Mahajan
[P.T.0.
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141, TRR fearea & e fFER @1 A2
(A) T 3w ==
(B) TenE ==
(C) TN &Y = .
(D) U= A 7

142. 93 fémn A wfeenstt =t wean w=rd
afufam fea 2 v gon ?

(A) 2002#
(B) 2003 %
(C) 2007 H
(D) 2005#

143. foorae wew & weirem fardt 3
q?

(A) =
(B) &
(C) g

(D) @

144. YA THIZ AHER 1 1572 §o H PR &
w9 q ‘wimer’ ferdt wer foRar a1 ?

(A) dema
(B) Raw &
(C) wTam g™
(D) ur fag #

141, Who founded the Guler P'rincely
State ?
(A) Raja Bhumi Chand
(B) Raja Hari Chand
(C) Raja Rup Chand
(D) Raja Megh Chand

142, In which year was the Protection of
Women from domestic violence Act

NPEXRRS.In

(B) in 2003
(C) in 2007
(D) in 2005

143. Who were the earliest inhabitants of
Himachal Pradesh ?

(A) kot -
® Ana |
(©) Gaddi

(D) Khasa

144. To whom did the Mughal emperor

Akbar grant 'Kangra' as Jagir in
1572 7

(A) Todarmal
(B) Birbal

(C) Bhagwan Das
(D) ManSingh

[44]



léﬁ-gmmm tﬁ.""m'EF"""E""E‘W'IHI 145, what 15 the ‘Ancient Maijnak
) :

Mountains' called now?

(ﬁ) viemur (A Dhﬂu]udhﬂr
)
(B) SIEhT (B) Zaskar
(€) Reters () shivalik
(D) e H(D) pir Panjal
146. 9 1 feraret ww 3= Ao @ | 440 Who is at present the Chief Justice
e =t s § 2 of Himachal Pradesh High court ?
(A) T THH (A) Mohammad Rafiq
(B) ferme IR @t Lingappa Narayana Swamy
(C) 3R avm wR () Amijad Ahtesham Sayed
(D) ¥4 ¥ = ) ' |

(D) None of these.

147. YR SRS TAT B @R S | 147, Which city is known for Mushroom

ST &2 production ?
(A) dreH &) Solan
(B) =eq (B) Nahan
(C) ferem (C) Shimla
(D) wueh (D) Mandi
148.26 e 2015 Ht F{w T frwd | 148. What was the title given to Kullu
10 B9R =il 3 s foan @, 3@ =0 Nati of 26 October 2015 in which
T5e e w2 10,000 people participated ?
(A) BIT 3T ey (A) Honor of Kullu
(B) TvEr i ey ~(B) Wonder of Kully
(C) e s e (C) Pride of Kully
(D) = it ey (D) Charm of Kullu
[J-2205 . Series-A ] [45] [P.T.0.



149, * faarera m'w*m W

LY

(A) oo T
(B) THoTHe T

(C) T=oo T
(D) odto Tl

150, 1909 $o #F 7t B T P FaET v
=Y wafed fear?
(A) 990 T
(B) ¥sr W
(C) firal wam fig
(D) & & = 7

149. Who is the author of the booy
‘Himalayan Art' ? :
(A) V.N.Goswami
(B) MS.Randhawa
(C) W.G. Archer
(D) ].C.French

150. Who organized the movement
against the Raja of Mandi in 19097
(A) Mathra Das
(B) Shobha Ram
(C) Miyan Jawahar Singh
(D) None of these.

ook de ok ek



